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no overlap
P(blue or red)

overlap
P(adult female)
P(a) + P(f) - (aff)

Multiply ("and")
2+ draws

w/ replacement

w/o replacement
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A six-sided cube is labeled with the

numbers 1, 2, 2, 3, 3, and 3. Four sides are

colored red, one side is white, and one
is yellow.

1. Find the probablllty of rolling a 2,

thena 2. 7(2)-FP1) z
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2. Find the probability of rolling red,

then whlte, then yellow.
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side
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times, what 1s the

Red, and Purple in that

order?

I | .

The spinner to the left 1s
equally likely to land on
any of the colored sections.
If you spin the spinner 5

probability that it will land
on Red; Greén, Orafige,
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Two cards are drawn from a deck of 52.
Find the probability.

What is the probability that you will select two
aces given that the first card i Is replaced?
__l T
R R L w9
nee  Ace \_“
What is the probability of selecting a face card
and then a 7 when the first card is.not

laced?
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The table shows domestic migration from
1995 to 2000. A person is selected randomly.
What is the probability that someone
selected is an emigrant and is from the

midwest?
Domestic Migration by Region
’;—"\ (thousands)
2 l6 ‘ Region immigrants | Emigrants
19, 7)1\ Northeast 1537 2008 |4 DHP

. Midwest 210 | (295 |52 |
South 5042 343 |3189
West 2666 2654 57270
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If 2 coins are tossed, one spinner
is spun, and 1 card is drawn from
a deck. What is the probability of 2
heads, a four on the spinner, and
the card is a spade?

1st 2nd
Lo 123438722028 N gy
____H 473439159908 broveg
R ifi’ﬁﬁlmmﬁm |
T 423456789078
(AA R AL LAR)
g
T -‘_._-__‘__--‘-
=T L
[ ~ 4
L 119

Mar 10-8:19 AM

A bag contains 5 red, 3 green, 4 blue, and
8 yellow marbles. - 90 totall

Find the probability of randomly

selecting a green marble, and then a
yellow marble if the first marble is .
replaced. p@_“'\.} e {\{) 2,

\
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What if the first marble was not replaced?
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A sock drawer contains 5 rolled - up pairs of
each color of socks, white (1), green (2),
and blue (2). What is the probability of
selecting a pair of blue socks, replacing it,
and then randomly selecting a pair of white

socks? ) @ﬂ 0 ("0

PP
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A bag contains 10 beads - 2 black, 3
white, and 5 red. A bead is selected at
random. Find the indicated probability.

P(white bead replacmg it, then red bead)
P '\ ,J ° xSy .

3 .5 [2 )
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P(white bead, no replacement then red bead)
P(w) - PLL- V*‘/M ”r' e )
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- P@3 nonred beads without replacement)
D (nof fedt) - Pt red) - Plotved )
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